Sentence fragmemnts
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Se n—i_-éh Ce . are incomplete sentences 3

that must be joined to
a dependent clause.

It's this note
that John
gave me!

t It's a sentence

fragment! What
could he mean?
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Why couldn’t he
have joined it to
an independent
clause?

He could mean, "Because
you wore that hat I'm going
to fail my test!”

Or “The world is going
to end because you
wore that hat!”

What | meant was, "Because
you wore that hat I'd like
to take you to lunch!”

Mow that's
a complete
thought!

Oh, why can't he
understand subordinates?!




